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UNIT - 2 

1. Which one of the following ancient 

towns is well–known for its elaborate 

system of water harvesting and 

management by building a series of 

dams and channelizing water into 

connect-ed reservoirs? 

(A) Dholavira  (B) Kalibangan 

(C) Rakhigarhi (D) Ropar 

2. With reference to medieval India, 

which one of the following is the 

correct sequence in ascending order in 

terms of size? 

(A) Paragana-Sarkar-Suba    

(B) Sarkar-Paragana-Suba 

(C) Suba-Sarkar-Paragana   

(D) Paragana-Suba-Sarkar 

3. Who among the following was 

associated as Secretary with Hindu 

Female School which later came to be 

known as Bethune Female School? 

(A) Annie Besant  

(B) Debendranath Tagore 

(C) Ishwar Chandra Vidyasagar  

(D) Sarojini Naidu 

4. In the context of Colonial India, Shah 

Nawaz Khan, Prem Kumar Sehgal and 

Gurbaksh Singh Dhillon are 

remembered as 

(A) Leaders of Swadeshi and Boycott 

Movement    

(B) Members of the Interim 

Government in 1946 

(C) Members of the Drafting 

Committee in the Constituent 

Assembly.    

(D) Officers of the Indian National 

Army 

 

UNIT - 2 

1. fuEufyf[kr esa ls dkSu&lk izkphu uxj vius 

mUur ty lap;u vkSj izca/ku iz.kkyh ds fy, 

lqizfl) gS] tgk¡ ck¡/kksa dh Ük`a[kyk dk fuekZ.k 

fd;k x;k Fkk vkSj lac) tyk'k;ksa esa ugj ds 

ek/;e ls ty dks izokfgr fd;k tkrk Fkk \ 

(A) /kkSykohjk  (B) dkyhcaxk 

(C) jk[khx<+h  (D) jksiM+ 

2. e/;dkyhu Hkkjr ds lanHkZ esa] fuEufyf[kr esa 

ls dkSu&lk vkdkj dh n`f"V ls vkjksgh Øe esa 

lgh vuqØe gS\ 

(A) ijxuk&ljdkj&lwck    

(B) ljdkj&ijxuk&lwck 

(C) lwck&ljdkj&ijxuk    

(D) ijxuk&lwck&ljdkj 

3. buesa ls dkSu lsØsVjh ds :i esa fgUnw Qhesy 

Ldwy ls lac) Fks@Fkha] tks ckn esa csF;wu Qhesy 

Ldwy ds uke ls tkuk tkus yxk \ 

(A) ,uh cslsaV  

(B) nsosUnzukFk VSxksj 

(C) bZ'ojpanz fo|klkxj    

(D) ljksftuh uk;Mw 

4. vkSifuosf'kd Hkkjr ds lanHkZ esa] 'kkg uokt 

[kku] izse dqekj lgxy vkSj xqjc['k flag 

fnYyksa ;kn fd, tkrs gSaA 

(A) Lons'kh vkSj cfg"dkj vkanksyu ds usrk ds 

:i esa    

(B) 1946 dh varfje ljdkj ds lnL;ksa ds 

:i esa 

(C) lafo/kku lHkk esa izk:i lfefr ds lnL;ksa 

ds :i esa    

(D) vktkn fgan QkSt ¼bafM;u us'kuy vkehZ½ 

ds vf/kdkfj;ksa ds :i esa 
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5. Who was the first president of 'British 

Indian Association'? 

(A) Surendra Nath Banerjee   

(B) Gopal Krishna Gokhale 

(C) Radha Kant Dev    

(D) Anand Mohan Bose 

6. When was the Tripuri Session of the 

Indian National Congress held in 

which Netaji Subhash Chandra Bose 

was elected the President of the 

Congress? 

(A) 1936  (B)1937 

(C) 1938 (D) 1939 

7. Consider the following statements and 

choose the correct option: 

(i) J.B. Kripalani formed the Kisan 

Mazdoor Praja Party in July 1952 

(ii) P.C. Ghosh and T. Prakasam were 

associated with Kisan Mazdoor Praja 

Party 

(A) (i) is true, but (ii) is false   

(B) (i) is false, but (ii) is true 

(C) (i) and (ii) both are true   

(D) (i) and (ii) both are false 

8. Which of the following statements is 

true regarding Pataliputra, the capital 

of the Magadha Kingdom? 

(A) Pataliputra was surrounded by the 

river Ganges in the East and by the 

river Champa in the North  

(B) Pataliputra was surrounded by the 

river Ganges in the North and by 

the river Sone in the West 

(C) Pataliputra was surrounded by the 

Vindhya mountain in the South and 

by the river Ganges in the East  

(D) Pataliputra was surrounded by the 

Vindhya mountain in the South and 

by the river Champa in the West 

5. ^fczfV'k bfM;u ,lksfl,'ku* ds izFke v/;{k 

dkSu Fks\ 

(A) lqjsUnz ukFk cuthZ    

(B) xksiky d`".k xks[kys 

(C) jk/kk dkUr nso    

(D) vkuUn eksgu cksl 

6. Hkkjrh; jk"Vªh; dkaxzsl dk f=iqjh lEesyu dc 

vk;ksftr gqvk Fkk ftlesa usrkth lqHkk"k panz cksl 

dkaxzsl ds v/;{k euksuhr fd, x, Fks\ 

(A) 1936  (B) 1937 

(C) 1938  (D) 1939 

7. fuEufyf[kr dFkuksa ij fopkj dhft, rFkk lgh 

fodYi dks pqfu,A 

(i) tqykbZ 1952 esa ts-ch-d`iykuh us fdlku 

etnwj iztk ikVhZ dk xBu fd;k 

(ii) ih-lh- ?kks"k ,oa Vh- izdk'ke fdlku 

etnwj iztk ikVhZ ls tqMs+ gq, Fks 

(A) (i) lgh gS] ysfdu (ii) xyr gS  

(B) (i) xyr gS] ysfdu (ii) lgh gS 

(C) (i) ,oa (ii) nksuksa gh lgh gaS   

(D) (i) ,oa (ii) nksuksa gh xyr gSa 

8. ex/k lkezkT; dh jkt/kkuh ikVfyiq= ds ckjs esa 

fuEufyf[kr es ls dkSu&lk dFku lR; gSa\  

(A) ikVfyiq= iwjc esa xaxk unh ls ,oa mÙkj 

esa pEik unh ls f?kjk gqvk Fkk   

(B) ikVfyiq= mÙkj esa xaxk unh ls ,oa if'pe 

esa lksu unh ls f?kjk gqvk FkkA 

(C) ikVfyiq= nf{k.k esa foa/; ioZr ls ,oa iwjc 

esa xaxk unh ls f?kjk gqvk FkkA  

(D) ikVfyiq= nf{k.k esa foa/; ioZr ls ,oa 

if'pe esa pEik unh ls f?kjk gqvk Fkk 
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9. Who among the following was called 

 „Lokahitavadi‟? 

(A) Keshav Chandra Sen 

(B) Mahatma Phule 

(C) Ishwarchandra Vidyasagar 

(D) Gopal Hari Deshmukh 

10. Consider the following tribal 

movements: 

1.  Santhal rebellion under Sidhu and 

Kanhu 

2. Munda rebellion under Birsa Munda 

3.  Uprising by Kols of Chhotanagpur 

Which of the following is the correct 

 the chronological sequence of the  

     above-given movements? 

(A) 1-2-3  (B) 2-3-1 

(C) 1-3-2  (D) 3-1-2 

11. In the context of revolutionary activity 

during the freedom struggle, consider 

the following pairs: 

Freedom fighter     Conspiracy case 

1. Bhagat Singh:  Lahore  Conspiracy 

case 

2. Ramprasad Bismil :      Kakori 

            Conspiracy    

                                           case 

3. Rajguru         :  Kanpur  

     Bolshevik 

                                Conspiracy case 

Which of the pairs given above is/are 

correctly matched? 

(A) 1 only  (B) 1 and 2 only 

(C) 2 and 3 only (D) 1, 2 and 3 

 

9- fuEufyf[kr esa ls fdls ^yksdfgroknh* ds 

miuke ls tkuk tkrk gS\ 

(A) ds'ko panz lsu  

(B) egkRek Qqys 

(C) bZ'ojpUnz fo|klkxj  

(D) xksiky gfj ns'keq[k 

10- fuEufyf[kr tutkrh; vkanksyuksa ij fopkj 

dhft,A 

1- fln~/kw vkSj dkUgw ds usr`Ro esa laFkky fonzksg 

2- fcjlk eqaMk ds usr`Ro esa eqaMk fonzksg 

3- NksVkukxiqj ds dksyksa }kjk fonzksg 

mi;qZä vkanksyuksa dk fuEufyf[kr esa ls 

dkSu&lk dkykuqØfed vuqØe lgh gS\ 

(A) 1&2&3  (B) 2&3&1 

(C) 1&3&2  (D) 3&1&2 

11- Lora=rk la?k"kZ ds nkSjku gqbZ Økafrdkjh 

xfrfof/k;ksa ds lanHkZ esa] fuEufyf[kr ;qXeksa ij 

fopkj dhft,A 

Lora=rk lsukuh    "kMîa= dsl 

1- Hkxr flag  % ykgkSj "kM+;a= dsl 

2- jkeizlkn fcfLey % dkdksjh "kM+;a= dsl 

3- jktxq#  % dkuiqj cksY'ksfod  

      "kM+;a= dsl 

mi;qZDr ;qXeksa esa ls dkSu&lk@ls lgh lqesfyr 

gS@gSa\ 

(A) dsoy 1  (B) dsoy 1 vkSj 2 

(C) dsoy 2 vkSj 3 (D) 1] 2 vkSj 3 
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12. What was the purpose behind issuing 

Delhi Manifesto in 1929? 

(A) To organise military coups against 

the British empire through military 

revolt. 

(B) To safeguard the political rights of 

Muslims in British India. 

(C) To sever ties with Britain and 

demand complete independence for 

India. 

(D) To demand implementation of 

'Dominion Status' in the Round 

Table Conferences. 

13. Consider the following pairs: 

Newspaper        Associated personality 

1. Amrita Bazar     :  Sisir Kumar Ghosh 

    Patrika  

2. Sudharak  :       Dadabhai Naoroji 

3. Voice of            :   Gopala Krishna 

India       Gokhale 

Which of the pairs given above is/are  

correctly matched? 

(A) 1 and 2 only (B) 2 and 3 only 

(C) 1 only (D) 2 only 

14. The main reason for the launch of the 

Khilafat movement was to: 

(A) Demand for greater political 

representation of Muslims in the 

legislature and executive. 

(B) Agitate against the discrimination 

being meted out to the Indian 

Muslims. 

(C) Protest against the treatment meted 

out to the Ottoman Empire by 

Britain. 

(D) Show dissent against government‟s 

decision to go back on partition of 

Bengal. 

 

12- o"kZ 1929 esa fnYyh ?kks"k.kki= tkjh djus ds 

ihNs fufgr mís'; D;k Fkk \ 

(A) lSU; fonzksg ds ek/;e ls fczfV'k 'kklu ds 

fo#) lSU; vfHk;ku izkjaHk djukA  

(B) fczfV'k Hkkjr esa eqfLyeksa ds jktuhfrd 

vf/kdkjksa dk laj{k.k djukA 

(C) fczVsu ds lkFk laca/k lekIr djuk vkSj 

Hkkjr ds fy, iw.kZ Lora=rk dh ekax 

djukA  

(D) xksyest lEesyuksa esa ^Mksfefu;u LVsVl* ds 

dk;kZUo;u dh ek¡x djukA 

13- fuEufyf[kr ;qXeksa ij fopkj dhft,% 

lekpkj i=  lacaf/kr O;fäRo 

1- ve`r cktkj if=dk % f'kf'kj dqekj ?kks"k 

2- lq/kkjd   % nknkHkkbZ ukSjksth 

3- okW;l vkWQ bafM;k % xksiky d`".k xks[kys 

mi;ZDr ;qXeksa esa ls dkSu&lk@ls lgh lqesfyr 

gS@gSa\ 

(A) dsoy 1 vkSj 2 (B) dsoy 2 vkSj 3 

(C) dsoy 1  (D) dsoy 2 

14- f[kykQy vkanksyu ds izkjaHk dk eq[; dkj.k 

Fkk% 

(A) fo/kkf;dk vkSj dk;Zikfydk esa eqlyekuksa 

ds fy, vf/kd jktuhfrd izfrfuf/kRo dh 

ekax djukA    

(B) Hkkjrh; eqlyekuksa ds lkFk gks jgs HksnHkko 

ds fo:) vkanksyu djukA 

(C) fczVsu }kjk vkWVkseu lkezkT; ls fd, tk 

jgs O;ogkj dk fojks/k djukA  

(D) caxky foHkktu ij ihNs gVus ds ljdkj 

ds fu.kZ; ds fo:) vlarks"k iznf'kZr 

djukA 
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15. Who among the following was the 

 founder of the „Young Bengal 

 Movement in the 1820‟s? 

 (A) David Hare 

 (B) Keshav Chandra Sen 

 (C) Henry Vivian Derozio 

 (D) Dwarkanath Tagore 

16. What was the main demand of the 

Bardoli Satyagraha organized under 

the leadership of Vallabhbhai Patel? 

(A) Writing off peasant debts 

(B) Granting land ownership right to 

tiller 

(C) Released of the Political prisoner 

 arrested during Non - Cooperation    

      Mov-ement 

(D) Withdrawal of enhanced land 

 revenue 

17. Which of the following leaders was the 

 fist satyagrahi to offer Individual 

 Satyagraha in 1940? 

(A) Vinoba Bhave 

(B) Mahatma Gandhi 

(C) Jawahar Lal Nehru 

(D) Brahma Dutt 

18. Which of the following personalities 

 were associated with the Mahalwari 

 System in India? 

 1. Holt Mackenzie 

 2. Robert Martins Bird 

3. Francis Hastings 

Select the correct answer using the code 

given  below. 

(A) 1 and 2 only (B) 2 and 3 only 

(C) 1 and 3 only (D) 1, 2 and 3 

 

15- 1820 ds n'kd esa ;ax caxky vkanksyu dk 

izkjaHk fuEufyf[kr esa ls fdlds }kjk fd;k 

x;k\ 

(A) MsfoM gs;j   

(B) ds'kopanz lsu 

(C) gsujh fofo;u Msjksft;ks    

(D) }kjdkukFk VSxksj 

16- oYyHkHkkbZ iVsy ds usr`Ro esa vk;ksftr ckjnksyh 

lR;kxzg dh eq[; ekax D;k Fkh\ 

(A) fdlku _.k ekQ djuk    

(B) Hkwfe tksrus okyksa dks HkwLokfeRo iznku 

djuk  

(C) vlg;ksx vkanksyu ds nkSjku fxj¶rkj 

fd, x, jktuhfrd dSfn;ksa dh fjgkbZ   

(D) c<+h gqbZ yxku dh okilh  

17- fuEufyf[kr esa ls dkSu&lk usrk 1940 esa izkjaHk 

O;fäxr lR;kxzg dk izFke lR;kxzgh Fkk \ 

(A) fouksck Hkkos  (B) egkRek xka/kh 

(C) tokgj yky usg:      (D) czá nÙk 

18- fuEufyf[kr O;fä;ksa esa ls dkSu&ls Hkkjr esa 

egkyokM+h cankscLr ls lacaf/kr Fks\ 

1- gkWYV eSdsath     2- jkWcVZ ekfVZal cMZ 

3- Ýkafll gsfLaVXl 

uhps fn, x, dwV dk iz;ksx dj lgh mÙkj 

pqfu,A 

(A) dsoy 1 vkSj 2 (B) dsoy 2 vkSj 3 

(C) dsoy 1 vkSj 3 (D) 1] 2 vkSj 3 
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19. With reference to the revolt of 1857, 

 consider the following pairs: 

 Leader             Centre of the 1857 

      Revolt 

 1. Nana Saheb     :   Kanpur 

 2. Khan Bahadur     :    Faizabad 

 3. Kunwar Singh     :    Bihar 

 4. Begum Hazrat     :    Lucknow 

    Mahal 

 Which of the pairs given above are 

 correctly matched? 

(A) 1, 3 and 4 only (B) 1 and 2 only 

(C) 2, 3 and 4 only (D) 1, 2 , 3 and 4 

20. Who among the following were the 

founders of the "Labor-Swaraj Party of 

Indian National Congress" established 

 in 1925? 

(A) Jawahar Lal Nehru, Subhash 

 Chandra Bose and M.A.Ansari 

(B) B. Krishna Pillai, E.M.S. Namboo-

diripad and K.C. George 

(C) Muzaffar Ahmed, Qazi Nazrul 

Islam and Hemanta Kumar Sarkar 

(D) Motilal Nehru, C.R. Das and Lala 

Lajpat Rai 

21. Which of the following statements 

 is not collect with regard to the 

 Ryotwari settlement? 

(A) It was introduced initially in the 

 south and south-western India . 

(B) The settlements under the system 

 were revised periodically. 

(C) The tax revenue was paid by the 

 peasant to the state through an 

 intermediary. 

(D) The system was introduced in 

 1820 by Sir Thomas Munro. 

 

19- 1857 ds fonzksg ds lanHkZ esa] fuEufyf[kr ;qXeksa 

ij fopkj dhft,% 

usrk   1857 ds fcnzksg dk dasnz 

1- ukuk lkgc   % dkuiqj 

2- [kku cgknqj   % QSt+kckn 

3- dqaoj flag   % fcgkj 

4- csxe gtjr egy % y[kuÅ  

mi;qZä ;qXeksa esa ls dkSu&ls lgh lqesfyr gSa\ 

(A) dsoy 1] 3 vkSj 4  (B) dsoy 1 vkSj 2 

(C) dsoy 2] 3 vkSj 4 (D) 1] 2] 3 vkSj 4 

20- o"kZ 1925 esa LFkkfir ^^yscj&Lojkt ikVhZ vkWQ 

bafM;u us'kuy dkaxzsl** ds laLFkkid 

fuEufyf[kr esa ls dkSu Fks\ 

(A) tokgj yky usg:] lqHkk"k panz cksl vkSj 

,e-,- valkjh    

(B) ch- d``".kk fiYybZ] bZ-,e- ,l- uacwnjhikn 

vkSj ds-lh-tkWtZ 

(C) eqt¶Qj vgen] dkth ut#y bLyke 

vkSj gsear dqekj ljdkj    

(D) eksrhyky usg:] lh-vkj- nkl vkSj ykyk 

yktir jk; 

21- jS;rokM+h cankscLr ds lanHkZ eas] fuEufyf[kr esa 

ls dkSu&lk dFku lgh ugha gS 

(A) ;g izkjaHk esa nf{k.k vkSj nf{k.k&if'peh 

Hkkjr esa ykxw fd;k x;k FkkA   

(B) bl O;oLFkk ds varxZr cankscLr dks 

le;&le; ij la'kksf/kr fd;k tkrk FkkA 

(C) d`"kdksa }kjk jkT; dks Hkw jktLo dk 

Hkqxrku e/;LFk ds ek/;e ls fd;k tkrk 

FkkA 

(D) ;g cankscLr 1820 esa lj FkkWel equjks 

}kjk ykxw fd;k x;k FkkA 
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22. Who among the following is are 

associated with Independence for India 

League? 

1. Mahatma Gandhi   

2. Jawaharlal Nehru 

3. Subhash Chandra Bose 

 Select the correct answer using the 

 code given below. 

(A) 1 only  (B) 2 only 

(C) 2 and 3 only  (D) 1.2 and 3 

23. Which of the following is not correct 

 with reference to English East India 

 Company (EIC)? 

(A) It was granted by Queen Elizabeth 

a Royal Charter and the exclusive 

privilege to trade in the East. 

(B) Jahangir was the first Mughal 

emperor to giant a farman to EIC. 

(C) The company opened its first 

factory at Hugli. 

(D) It opened new markets for Indian 

 products and manufactures. 

24. With reference to British rule in India, 

 the 'Downward filtration theory ' was 

 used in the context of which of the 

 following? 

(A) Army  

(B) Police Reforms 

(C) Health (D) Education 

25. Who among the following gave 

the slogan ''no religion, no caste and no 

God for mankind''? 

(A) Sri Narayana Guru 

(B) Raja Rammohan Roy 

(C) Swami Dayanand 

(D) Sahodaran Ayyapan 

 

22- fuEufyf[kr usrkvksa esa ls dkSu&lk@ls Hkkjrh; 

Lora=rk yhx ls lacaf/kr gS@gSa\ 

1- egkRek xka/kh  2- tokgjyky usg: 

3- lqHkk"k panz cksl 

uhps fn, x, dwV dk iz;ksx dj lgh mÙkj 

pqfu,A 

(A) dsoy 1  (B) dsoy 2 

(C) dsoy 2 vkSj 3 (D) 1] 2 vkSj 3 

23- fczfV'k bZLV bafM;k daiuh (EIC) ds lanHkZ eas] 

fuEufyf[kr dFkuksa esa ls dkSu&lk lgh ugha gS\ 

(A) egkjkuh ,fytkcsFk }kjk ,d 'kkgh pkVZj 

¼vkns'k&i=½ tkjh djds daiuh dks iwoZ esa 

O;kikj djus ds fy, vuU; fo'ks"kkf/kdkj 

iznku fd;s x,A  

(B) tgk¡xhj daiuh dks Qjeku iznku djus 

okyk izFke eqxy ckn'kkg FkkA 

(C) daiuh us viuh izFke QSDVªh gqxyh esa 

LFkkfir FkhA    

(D) daiuh us Hkkjrh; mRiknksa vkSj fofufeZr 

oLrqvksa ds fy, uohu cktkj [kksysA 

24- Hkkjr esa fczfV'k 'kklu ds laca/k esa] v/kkseq[kh 

fuL;anu fl)kar dk iz;ksx fuEufyf[kr esa ls 

fdlds lanHkZ esa fd;k tkrk Fkk \  

(A) lsuk    (B) iqfyl lq/kkj 

(C) LokLF;   (D) f'k{kk 

25- fuEufyf[kr esa ls fdlus ^^ekuo tkfr ds fy, 

dksbZ /keZ ugha] dksbZ tkfr ugha vkSj dksbZ bZ'oj 

ugha* dk ukjk fn;k Fkk\ 

(A) Jh ukjk;.k xq# (B) jktk jkeeksgu jkW; 

(C) Lokeh n;kuan (D) lgksnju v¸;Iiu 
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26. Consider the following statements with 

reference to Revolt of 1857: 

1. Most of the rulers of princely states 

 took part in the revolt actively. 

2. The revolt started in the form of a 

 mutiny in Meerut. 

3. Bahadur Shah Zafar was proclaimed 

as the Emperor of Hindustan during 

the revolt.  

Which of the statements given above are 

correct? 

(A) 1 and 2 only (B) 2 and 3 only 

(C) 1 and 3 only (D) 1, 2 and 3 

27. Ripon's resolution of 1882 pertained to: 

(A) Financial devolution to local bodies 

(B) Improvement of labour conditions 

(C) Shifting the capital of British India 

(D) Strictly regulating the vernacular 

 press 

28. Which of the following best describes 

 the strategy of Indian national  move-

ment from 1920s to 1940s? 

 (A) Struggle-truce-struggle 

 (B) Struggle till the freedom 

 (C)Struggle within the constitutional 

 sphere 

 (D) Struggle without harming the 

 British rule 

29. Which of the following organizations/ 

 movements was/were reformist in 

 nature? 

 1. Tatvabodhini Sabha 

 2. Rehnumai Mazdayasan Sabha 

 3. Deoband Movement 

 Select the correct answer using the 

 code given below. 

 (A) 1 only  (B) 1 and 2 only 

 (C) 2 and 3 only (D) 1, 2 and 3 

 

26- 1857 ds fonzksg ds lanHkZ esa] fuEufyf[kr 

dFkuksa ij fopkj dhft,% 

1- vf/kdka'k fjlklrksa ds 'kkldksa us fonzksg esa 

lfØ; :i ls Hkkx fy;k FkkA 

2- ;g fonzksg esjB esa lSU; fonzksg ds :i esa 

vkjaHk gqvk FkkA 

3- cgknqj 'kkg tQj dks bl fonzksg ds nkSjku 

fganqLrku dk lezkV ?kksf"kr fd;k x;k FkkA 

mi;qZDr dFkuksa esa ls dkSu&ls lgh gSa\ 

(A) dsoy 1 vkSj 2 (B) dsoy 2 vkSj 3 

(C) dsoy 1 vkSj 3 (D) 1] 2 vkSj 3 

27- 1882 dk fjiu izLrko lacaf/kr Fkk% 

(A) LFkkuh; fudk;ksa dks foÙkh; gLrkarj.k ls  

(B) Je dh fLFkfr;ksa esa lq/kkj lsA 

(C) fczfV'k Hkkjr dh jkt/kkuh ds LFkkukarj.k 

lsA 

(D) oukZdqyj izsl ,DV ds dBksjrkiwoZd 

fofu;eu lsA 

28- fuEufyf[kr esa ls dkSu&lk 1920 ls 1940 ds 

n'kd rd dh Hkkjrh; jk"Vªh; vkanksyu dh 

j.kuhfr dk losJs"B o.kZu djrk gS\ 

(A) la?k"kZ&fojke&la?k"kZ  

(B) Lora=rk rd la?k"kZ 

(C) laoS/kkfud nk;js ds Hkhrj la?k"kZ   

(D) fczfV'k 'kklu dks gkfu igq¡pk, fcuk la?k"kZ 

29- fuEufyf[kr esa ls dkSu&lk@ls laxBu@vkanksyu 

izd`fr esa lq/kkjoknh Fkk@Fks\ 

1- rRocksf/kuh lHkk 

2- jguqekbZ etnk;lu lHkk 

3- nsocan vkanksyu 

uhps fn, x, dwV dk iz;ksx dj lgh mÙkj 

pqfu,A 

(A) dsoy 1  (B) dsoy 1 vkSj 2 

(C) dsoy 2 vkSj 3 (D) 1] 2 vkSj 3 
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30. Which of the following leaders 

founded the "Harijan Sevak Sangh" in 

1932? 

(A) Mahatma Gandhi 

(B) Dr. B.R. Ambedkar 

(C) Jawahar Lal Nehru 

(D) K. Kelappan 

31. Consider the following statements with 

respect to the Simon Commission: 

1. No Indian was a member of the 

Simon Commission. 

2. The report of the Simon Com 

mission recommended for the 

Dominion  Status for India. 

 Which of the statements given above 

is/are correct? 

(A) 1 only  (B) 2 only 

(C) Both 1 and 2  (D) Neither 1 nor 2 

32. Consider the following statements 

 regarding the Battle of Plassey: 

1. It was fought with British East India 

Company on one side and the 

Nawab  of Bengal and 

French force on the  other side. 

2. After the battle, Mir Jafar was made 

the Nawab of Bengal. 

Which of the statements given above 

is/are correct? 

(A) 1 only  (B) 2 only 

(C) Both 1 and 2      (D) Neither 1 nor 2 

33. During the Civil Disobedience Move-

 ment, a powerful agitation against 

'Cunningham Circular' was launch ed 

in Assam because it 

(A) imposed censorship on national 

and regional press. 

(B) forbade industrial workers to form 

trade unions. 

(C) prohibited students from partici-

pating in political activities. 

(D) provided for imprisonment without 

trial. 

30- fuEufyf[kr usrkvksa eas ls fdlus 1932 esa 

^^gfjtu lsod la?k** dh LFkkiuk dh Fkh \ 

(A) egkRek xka/kh  (B) MkW-ch-vkj- vEcsMdj 

(C) tokgj yky usg: (D) ds- dsyIiu 

31- lkbeu deh'ku ds laca/k esa fuEufyf[kr dFkuksa 

ij fopkj dhft,% 

1- dksbZ Hkh Hkkjrh;  lkbeu deh'ku dk 

lnL; ugha FkkA 

2- lkbeu deh'ku dh fjiksVZ us Hkkjr ds fy, 

Mksfefu;u LVsVl dh vuq'kalk dhA 

mi;qZä dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\ 

(A) dsoy 1       (B) dsoy 2 

(C) 1 vkSj 2 nksuksa (D) u rks 1] u gh 2 

32- Iyklh ds ;q) ds laca/k esa fuEufyf[kr dFkuksa 

ij fopkj dhft,A 

1- ;g ,d rjQ fczfV'k bZLV bafM;k daiuh 

vkSj nwljh rjQ caxky ds uokc vkSj Ýkalhlh 

cyksa ds e/; yM+k x;k FkkA 

2- bl ;q) ds i'pkr~] ehj tkQj dks caxky 

dk uokc cuk;k x;kA 

mi;qZä dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\ 

(A) dsoy 1  (B) dsoy 2 

(C) 1 vkSj 2 nksuksa (D) u rks 1] u gh 2 

33- lfou; voKk vkanksyu ds nkSjku] vle esa 

^dfua?ke ldqZyj* ds fo:) 'kfä'kkyh vkanksyu 

dk vkjaHk gqvk D;ksafd& 

(A) blus jk"Vªh; vkSj {ks=h; izsl ij lasljf'ki 

yxk fn;k FkkA    

(B) blus vkS|ksfxd Jfedksa dks O;kikj la?k 

LFkkfir djus ls euk dj fn;k FkkA 

(C) blus Nk=ksa dks jktuhfrd xfrfof/k;ksa esa 

Hkkx ysus ls izfrcaf/kr fd;k FkkA  

 (D) blus fcuk eqdnek pyk, dkjkokl dk 

izko/kku fd;k FkkA 
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34. Bhagat Singh, a revolutionary socialist 

leader, was associated with which of 

the following organizations? 

 1. Hindustan Socialist Republican 

 Association 

 2. Naujawan Bharat Sabha 

 3. Workers' & Peasants Party 

 Select the correct answer using the 

 code given below. 

(A) 1 only (B) 2 and 3 only 

(C) 1 and 2 only (D) 1, 2 and 3 

35. In the context of the Indian freedom 

Movement, Khudai Khidmatgars 

organ- ised 

(A) A peasant movement in Punjab 

(B) A movement for upliftment of 

tribals in Gujarat 

(C) Non violent resistance movement 

in North-West Frontier Province 

(D) International political movement to 

overthrow British rule in India. 

36. Match list I with list II and select the 

correct answer from the codes given 

below the list.  

List- I      List- II 

a. Harappa  1- Bhogava 

b. Kalibanga  2- Ghaggar 

c. Lothal  3- Ravi 

d. Ropar  4- Sutlej 

a b c d 

(A)  3 2 1 4 

(B)  3 4 1 2 

(C)  4 2 3 1  

(D)  1 3 2 4 

34- Økafrdkjh lektoknh usrk] Hkxr flag fuEu 

fyf[kr esa ls fdl laxBu ls lacaf/kr Fks\ 

1- fganqLrku lks'kfyLV fjifCydu ,lksfl,'ku 

2- ukStoku Hkkjr lHkk 

3- odZlZ ,aM ihtsaV~l ikVhZ 

uhps fn, x, dwV dk iz;ksx dj lgh mÙkj 

pqfu,A 

(A) dsoy 1  (B) dsoy 2 vkSj 3 

(C) dsoy 1 vkSj 2 (D) 1] 2 vkSj 3 

35- Hkkjrh; Lora=rk vkanksyu ds lanHkZ esa] [kqnkbZ 

f[knerxkjksa us vk;ksftr fd;k FkkA 

(A) iatkc esa fdlku vkanksyu    

(B) xqtjkr esa tutkfr;ksa ds mRFkku ds fy, 

vkanksyu 

(C) mÙkj&if'peh lhekar izkar esa vfgald 

izfrjks/k vkanksyu    

(D) Hkkjr esa fczfV'k 'kklu ds mUewyu ds fy, 

varjkZ"Vªh; jktuhfrd vkanksyuA 

36. lwph I ds lkFk lwph II dks feyku dhft, vkSj 

uhps fn, x, lwph ls lgh mÙkj pqfu,A 

lwph & I      lwph & II 

a. gM+Iik  1- Hkksxok 

b. dkyhcaxk  2- ?kX?kj 

c. yksFky  3- jkoh 

d. jksiM+   4- lryt 

a b c d 

¼A½  3 2 1 4 

¼B½  3 4 1 2 

¼C½  4 2 3 1  

¼D½  1 3 2 4 
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37. With the help of code given below, 

correctly match List-I with List -II 

    List-I   List-II 

(Devoted saint)    (Propounded 

Principle) 

(a) Shankaracharya  1- Shudh-advaita 

(b) Ramanujacharya  2- Dvaitadvaita 

(c) Vallabhacharya    3- Advaita 

(d)Nimbakacharya 4- Vishishtadvaita 

code–  

A B C D 

(A)  2 4 1 3 

(B)  3 1 4 2 

(C) 2 1 4 3 

(D)  3 4 1 2 

38. In ancient India, the rulers of which  

Dynasty started the dyarchy? 

(A) Shakas  (B) Mauryas 

(C) Guptas  (D) Kushanas 

39. Arrange the following chronological 

order - 

1. Tughlaqs 2.  Lodis 3. Sayyids 

4. Ilbari Turks 5. Khiljis 

(A) 1, 2, 3, 4, 5  

(B) 5, 4, 3, 2, 1 

(C) 2, 4, 5, 3, 1  

(D) 4, 5, 1, 3, 2 

40. Match the following in correct order- 

     Table-I       Table-II 

(a) Ahmednagar 1. Nizamshahi 

(b) Golconda  2. Qutubshahi 

(c) Bijapur  3. Adilshahi 

(d) Biedar  4. Baridshahi 

(a)  (b)  (c)  (d)  

(A) 1 2 4 3 

(B)  2 1 3 4 

(C) 1 2 3 4 

(D)  3 4 1 2 

 

37. lwph izFke ¼HkfDr dkyhu lar½ dks lwph f}rh; 

¼izfrikfnr fl)kar½ ls lqesfyr dhft, rFkk 

lwfp;ksa ds uhps fn, x, dwV dk iz;ksx dk lgh 

lqesfyr dhft,\ 

lwph&I    lwph&II 
¼HkfDr dkyhu lar½     ¼izfrikfnr 

fl)kar½ 

(a) 'kadjkpk;Z  1- 'kq)&v}Sr  

(b) jkekuqtkpk;Z  2- }Sr&v}Sr 

(c) oYyHkkpk;Z  3- v}Srokn  

(d) fuEcdkpk;Z  4- fof’k"V&v}Sr  

 dwV – A B C D 
(A)  2 4 1 3 

(B)  3 1 4 2 

(C)  2 1 4 3 

(D) 3 4 1 2 

38. izkphu Hkkjr esa loZizFke fdl oa'k ds 'kkldksa us 

^}S/k* 'kklu iz.kkyh dh 'kq:vkr dh Fkh\ 

(A) 'kdksa us  (B) ekS;ksZa us 

(C) xqIrksa us  (D) dq"kk.kksa us 

39. fuEufyf[kr dks dkyØe ds vuqlkj O;ofLFkr 

djsa& 

1. rqxyd  2. Yksknh      3. lS¸;n  

4. bYcjh rqdZ    5- f[kyth 

(A) 1] 2] 3] 4] 5 (B) 5] 4] 3] 2] 1 

(C) 2] 4] 5] 3] 1 (D) 4] 5] 1] 3] 2 

40. lwph & I dks lwph&II ls lqesfyr dhft, 

vkSj fn, x, dwVksa dh lgk;rk ls lgh mÙkj 

crkb,& 

lwph & I   lwph & II 

(a) vgen uxj  1- futke’kkgh 

(b) xksydq.Mk  2- dqrqc’kkgh 

(c) chtkiqj  3- vkfny’kkgh 

(d) chnj   4- cjhn’kkgh 

(a)  (b)  (c)  (d)  

(A) 1 2 4 3  

(B)  2 1 3 4 

(C) 1 2 3 4 

(D)  3 4 1 2 
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41. Which of the following is correctly 

matched? 

(A) First battle of Panipat    -1526 

(B) Battle of Khanwa         - 1527 

(C) Battle of Ghaghra   -1529 

(D) Battle of Chanderi       -1530 

42. Match the following- 

Table-I 

A. Charminar, Hyderabad 

B. Moti Masjid, Agra 

C. QutubMinar, Delhi 

D. Siri Fort 

Table-II 

1- Alaud-din-Khilji 

2- Qutubuddin Aibak 

3- Shahjahan Ul-Islam 

4- Adil Shah of Bijapur 

5- Aurangzeb 

Codes- 

A B C D 

(A)  4 5 2 1 

(B)  1 3 2 1 

(C)  4 3 2 1 

(D)  4 5 2 1 

43. Which of the following Afghan ruler in 

Delhi?  

(A) Shikander shah - Ibrahim lodhi -

Bahlol khan lodhi  

(B) Sikander shah - Bahlol khan lodhi 

- Ibrahim lodhi  

(C) Bahlol khan lodhi - Sikander 

lodhi - Ibrahim lodhi 

(D) Bahlol khan lodhi - Ibrahim lodhi 

- Sikander shah 

44. Arrange the following in chronol-

ogical order. 

1- Ahilya bai  2- Durgavati 

3- Padmani  4- Tarabai 

(A) 1, 2, 3, 4 (B) 3, 2,4, 1 

(C) 3, 4,1, 2 (D) 2, 1, 3, 4 

41. fuEufyf[kr esa ls dkSu&lk ;qXe lgh lqesfyr gS\ 

(A) ikuhir dk izFke ;q)& 1526 

(B) [kkuok dk ;q) & 1527 

(C) ?kk?kjk dk ;q) & 1529 

(D) pansjh dk ;q) & 1530 

42. lqesfyr dhft,& 

lwph&I    

A. gSnjkckn dh pkj ehukj   

B. vkxjk dh eksrh efLtn  

C. fnYyh dh dqrqcehukj   

D. lh/kh dk fdyk   

lwph&II 
1- vykmíhu f[kyth 

2- dqrqcqíhu ,scd 

3- 'kkgtgk¡ my bLyke 

4- chtkiqj dk vkfny’kkg 

5- vkSjaxtsc 

A B C D 

(A)  4 5 2 1 

(B)  1 3 2 1 

(C)  4 3 2 1 

(D)  4 5 2 1 

43. fnYyh dh jktxn~nh ij vQxku 'kkldksa ds 

 'kklu dk fuEufyf[kr esa ls dkSu&lk lgh 

 dkykuqØe gS\ 

(A) fldUnj 'kkg&bczkfge yksnh&cgyksy [kku 

yksnh 

(B) fldUnj 'kkg&cgyksy [kku yksnh&bczkfge 

yksnh 

(C) cgyksy [kku yksnh&fldUnj 'kkg&bczkfge yksnh 

(D) cgyksy [kku yksnh&bczkfge yksnh&fldUnj 

'kkg 

44. fuEufyf[kr dks dkyØekuqlkj O;ofLFkr djsa 

 ,oa lgh mÙkj uhps fn;s x, dwV dh lgk;rk 

 ls <w¡<ksa 

 1- vfgY;k ckbZ 2- nqxkZorh 

 3- in~feuh  4- rkjkckbZ 

   (A) 1, 2, 3, 4 (B) 3, 2, 4, 1 

(C) 3, 4, 1, 2 (D) 2, 1, 3, 4 



 

visit us at : www.samikshainstitute. org                                         MPPSC QTS-01 Chemistry                                                                     Page  14   

 

14 

45. Which of the following is wrongly 

matched? 

(A) Abul Fazal- Akbarnama 

(B) Badayun - Alamgirnama 

(C) Babur - Tujuk-e-babri 

(D) Jahangir - Tujuk-e-Jahangir 

46. Which of the following statements 

is/are correct? 

(1) Robert Clive was the first Governor 

General of Bengal. 

(2) William Bentinck was the first 

Governor General of India. 

(A) Only 1 (B) Only 2 

(C) Both 1 & 2 (D) None of these 

47. Which of the following statement is 

true about B.R. Ambedkar? 

(1) He established Siddharth College. 

(2) He published Muknayak Magazine 

in 1920. 

(3) He formed The Depressed classes 

 Institute in 1924. 

(4) He was the first Defence Minister 

of India. 

(A) 1, 2 & 3  (B) 2, 3 & 4 

(C) 1, 3 & 4  (D) 1, 2 & 4 

48. Who among the following was not 

associated with Home Rule movem-

ent? 

(A) C. R Das 

(B) S.Subramaniam Iyer 

(C)Annie Besant (D) B. G. Tilak 

49. Arrange the following in chronolo-

gical order. 

1. Cripps mission  

2. Cabinet Mission Plan 

3. Quit India Movement  

4. Wavell‟s Scheme 

(A) 1,3,4,2  (B) 1,2,3,4 

(C) 1,3,2,4  (D) 4,2,3,1 

45. fuEufyf[kr esa ls dkSu&lk fodYi xyr gS\ 

(A) vcqy Qty& vdcjukek  

(B) cnk;w¡uh   &  vkyexhjukek 

(C) ckcj & rqtwd&,&ckcjh  

(D) tgk¡xhj & rqtwd&,&tgk¡xhjh 

46. fuEufyf[kr dFkuksa ij fopkj dhft,& 

1- jkWcVZ Dykbo caxky ds izFke xouZj&tujy FksA 
2- fofy;e cSf.Vd Hkkjr ds izFke xouZj tujy 
FksA 

mijksDr dFkuksa esa ls dkSu lk@ls lgh gS 

(A) dsoy 1  (B) dsoy 2 

(C) 1 vkSj 2 nksuksa    (D) u rks 1 vkSj u gh 2 

47.  MkW- ch- vkj- vEcsMdj ds lEcU/k esa 

fuEufyf[kr dFkuksa esa ls dkSu&lk lgh gS\ 

dFkuksa ds uhps fn, x, dwV ls lgh mRrj 

pqfu,& 

(1) mUgksaus fl)kFkZ dkWyst dh LFkkiuk dhA 

(2) 1920 eas mUgksus viuh if=dk ^ewd uk;d* 

izdkf'kr dhA 

(3) 1924 esa mUgksaus ^n fMizsLM Dykl 

baLVhV~;wV* dh LFkkiuk dhA 

(4) og Hkkjr ds izFke j{kkea=h FksA 

(A) 1]2 rFkk 3  (B) 2]3 rFkk 4 

(C) 1]3 rFkk 4  (D) 1]2 rFkk 4 

48. fuEufyf[kr esa ls dkSu gkse:y vkUnksyu ls 

 ugha tqM+k Fkk\ 

(A) lh-vkj-nkl  

(B) ,l- lqcze.;e v¸;j 

(C) ,uh cslsUV  (D) ch-th-fryd 

49. fuEufyf[kr ?kVukvksa dk Øe yxk, 

1- fØIl fe’ku  2- dSfcusV fe’ku Iyku 

3- Hkkjr NksM+ks vkUnksyu  

4- ososy ;kstuk 

(A) 1]3]4]2  (B) 1]2]3]4 

(C) 1]3]2]4 (D) 4]2]3]1 
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50. Who among the following was not 

present in the first meeting of Indian 

National Congress? 

(A) Dada Bhai Naoroji  

(B) G. Subramaniam Iyer 

(C) Justice Ranade 

(D) Surendra Nath Bannerjee 

51. Consider the following statements 

regarding reorganisation of states after 

independence? 

(1) A veteran Gandhian a named potti 

sriramulu went on a hunger strike 

demading the formantion of 

Andhra state.  

(2) Andhra was first state organised on 

the basis of language. 

(A) Only 1             (B) Only 2 

(C) Both 1 & 2 (D) None 

52. With reference to Indian freedom 

struggle, correct chronological 

sequence is?  

(1) Mutiny in royal Indian Navy 

(2) Quit India Movement launched  

(3) Second round table conference  

(A)1-2-3 (B) 2-1-3 

(C) 3-2-1 (D) 3-1-2 

53. Quit India movement was launched in 

response to? 

(A) Cabinet mission plan  

(B) Cripps proposal  

(C) Simon commission report  

(D) Wavell plan 

54. Hind swaraj, a book by Mahatma 

Gandhi in 1909 was originally written 

in?  

(A) Hindi (B) Urdu 

(C) Gujarati (D) English 

 

50. Hkkjrh; jk"Vªh; dkaxzsl dh izFke cSBd esa 

 'kkfey ugha Fks& 

 (A) nknk HkkbZ ukSjksth(B)th-lqcze.;e v¸;j 

 (C) tfLVl jkukMs (D) lqjsUnz ukFk cuthZ 

51. Lora=rk ds ckn jkT; ds iquxZBu ds 

 lac/k esa fuEufyf[kr dFkuksa ij fopkj djsa\ 

¼1½ ,d vuqHkoh xka/khoknh iksV~Vh Jhjkeqyq] 

vka/kz jkT; cukus dh ekax dks ysdj Hkw[k 

gM+rky ij x,A 

¼2½ vka/kz Hkk"kk ds vk/kkj ij cuk;k x;k 

igyk jkT; FkkA 

¼A½ dsoy 1   ¼B½ dsoy 2  

¼C½ 1 o 2 nksuksa  ¼D½ dksbZ ugha 

52. Hkkjrh; Lora=rk laxzke ds lanHkZ esa lgh Øe 

 D;k gS\  

¼1½ ukSlsuk dk fonzksg  

¼2½ Hkkjr NksM+ks vkanksyu 

¼3½ f}rh; xksyest lEesyu 

¼A½ 1&2&3  ¼B½ 2&1&3 

¼C½ 3&2&1   ¼D½ 3&1&2 

53. Hkkjr NksM+ks vkanksyu fdlds lanHkZ esa izkjaHk 

 fd;k x;k Fkk\ 

¼A½ dSfcusV fe'ku ;kstuk   

¼B½ fØIl izLrko 

¼C½ lkbeu deh’ku   ¼D½ oscsy Iyku 

54. 1909 esa egkRek xka/kh }kjk fy[kh xbZ iqLrd 

 fgUn Lojkt fdl Hkk"kk esa fy[kh xbZ Fkh\ 

¼A½ fgUnh  ¼B½ mnwZ 

¼C½ xqtjkrh   ¼D½ vaxzsth 
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55. Who among the following is known as 

the saint of Dakshineshwar? 

(A) Ramkrishna paramhansa 

(B) Swami Vivekanand 

(C) Swami Dayanand Saraswati 

(D) Saint Tukaram 

56. What is India‟s rank in Corruption 

perception index (CPI) – 2020? 

(A)50
th
    (B)75

th
 

(C) 80
th  

(D) 86
th
 

57. „MITRA‟ scheme, which was 

announced in the recent Union Budget 

(2021-22), is related to which sector? 

(A)Agriculture  (B) Textile 

(C) MSME (D) Banking 

58. Which of the following is not one of 

the causes of decline of Mauryan 

Empire? 

(A) Alexander‟s invasion from the 

north-west.    

(B) The spread of iron tools and 

weapons in the outlying areas. 

(C) The brahminical reaction against 

policies of Ashoka.   

(D) Financial crisis owing to the 

maintenance of huge army. 

59. Building „Lotus Mahal‟ and 

„Mahanavmi Dibba‟ was a notable 

feature in the kingdom of 

(A) Vijayanagara (B) Chandela 

(C) Pala (D) Rashtrakuta 

60. Consider the following statements 

regarding iqta system: 

1. Iqtas were administered by Muqtis. 

2. Iqtas were made hereditary by 

Sultan Firoz shah Tughlaq. 

Which of the statements given above 

is/are correct? 

(A) 1 only         (B) 2 Only 

(C) Both 1and 2 (D) neither 1 nor 2 

55. fuEu esa ls fdls nf{k.ks’oj lar ds uke ls 

 tkuk tkrk gS\ 

¼A½ jked`".k ijegal  

¼B½ Lokeh foosdkuan 

¼C½ Lokeh n;kuan ljLorh     

¼D½ lar rqdkjke 

56. Hkz"Vkpkj èkkj.kk lwpdkad ¼CPI½–2020 esa 

 Hkkjr dk jSad D;k gS\ 

(A) 50
th
   (B) 75

th
 

(C) 80
th 

(D) 86
th
 

57. 'fe=' ;kstuk] ftldh ?kks"k.kk gky ds dsaæh; 
 ctV (2021-22) esa dh xbZ Fkh] fdl {ks= 

 ls lacafèkr gS\ 

(A) d`f"k   (B) diM+k 

 (C) ,e,l,ebZ  (D) cSafdax 

58. fuEufyf[kr dFkuksa esa ls dkSu&lk ekS;Z 

 lkezkT; ds iru dk ,d dkj.k ugha gSa\ 

(A) mÙkj&if’pe lhek ls fldanj dk 

vkØe.kA  
(B) ifj/kh; {ks=ksa esa yksgs ds vkStkjksa ,oa 

gfFk;kjksa dk izlkjA 
(C) v’kksd dh uhfr;ksa ds fo:) czká.koknh 

izfrfØ;k    
(D) fo’kky lsuk ds j[kj[kko ds dkj.k 

foÙkh; ladVA 

59. ^dey egy* vkSj ^egkuoeh fMCck* dk 

 fuekZ.k fdl jkT; dh mYys[kuh; fo’ks"krk     

   Fkh\ 

(A) fot;uxj (B) pansy 
(C) iky  (D) jk"VªdwV 

60. bDrk iz.kkyh ds lanHkZ esa] fuEufyf[kr 

 dFkuksa ij fopkj dhft,% 

1- bDrk dk iz’kklu eqfDr;ksa }kjk fd;k 

tkrk FkkA 

2- lqYrku fQjkst 'kkg rqxyd us bDrk dks 

oa’kkuqxr cuk fn;k FkkA 

(A) dsoy 1  (B) dsoy 2 
(C) 1 vkSj 2 nksuksa (D) u rks 1]u gh 2 
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61. Consider the following: 

1. Steatite 

2. Bronze 

3. Terracotta 

Which of the material given above 

were used for Harappan 

figures/sculptures? 

(A) 1 and 3 only (B) 2 and 3 only 

(C) 1 and 2 only (D) 1, 2 and 3 

62. Consider the following  historical 

 temples:  

1. Sun temple, Konark  

2. Dashavatara Vishnu temple, 

Deogarh  

3. Virupaksha temple, Mysore Which 

of the above is/are the Nagara style 

temple?  

(A) 1 only   (B) 1 and 2 only 

(C) 1, 2 and 3  (D) None 

63. Which of the following statements 

 about Alauddin Khilji is correct?  

(A) He abolished the "jaziya" tax 

imposed on non-muslim pilgrims.  

(B) No land revenue was taken from 

peasants under his rule.  

(C) He introduced the branding 

system (dagh) of the horses.  

(D) He abolished the slavery system.  

64. Consider the following pairs: 

 Pottery        Period  

1. Painted grey ware : Rigvedic 

period  

2. Ochre colored pottery : Neolithic 

period  

3. Northern Black Polished ware : 

Harappan period  

Which of the pairs given above is/are 

correctly matched?  

(a) 2 only   (b) 3 only  

(c) 1 only   (d) 2 and 3 only 

61. fuEufyf[kr ij fopkj dhft,% 

1- LVsVkbV 2- dkaL;    3- VsjkdksVk 

mi;ZqDr esa ls fdu lkefxz;ksa dk gM+Iik dh 

vkd`fr;ksa@ewfrZ;ksa ds fy, mi;ksx fd;k x;k 

Fkk\ 

(A) dsoy 1 vkSj 3 (B) dsoy 2 vkSj 3 
(C) dsoy 1 vkSj 2 (D) 1]2 vkSj 3 

62. fuEufyf[kr ,sfrgkfld eafnjksa ij fopkj 

 dhft,% 

1- lw;Z eafnj] dks.kkdZ 

2- n’kkorkj fo".kq eafnj] nsoxzg 

3- fo:ik{k eafnj] eSlwj 

mi;qZDr eafnjksa esa ls dkSu&lk@ls ukxj 'kSyh 

esa fufeZr gS@gSa\ 

(A) dsoy 1  (B) dsoy 1 vkSj 2 
(C) 1]2 vkSj 3 

(D) mi;qZDr esa ls dksbZ ugha 
63. vykmn~nhu f[kyth ds lanHkZ esa] 

 fuEufyf[kr dFkuksa esa ls dkSu&lk lgh gSa\ 

(A) mlus xSj&eqfLye rhFkZ;kf=;ksa ij 

vkjksfir ^tft;k* dj lekIr dj fn;kA  
(B) mlds 'kklu esa fdlkuksa ls fdlh izdkj 

Hkh Hkw&jktLo ugha fy;k tkrk FkkA 
(C) mlus ?kksM+ksa dh nkxus ¼nkx½ dh iz.kkyh 
vkjEHk dh FkhA    
(D) mlus nkl izFkk dks lekIr dj fn;k FkkA 

64. fuEufyf[kr ;qXeksa ij fopkj dhft,% 

e`nHkkaM                vof/k 

1- fpf=r /kwlj e`nHkkaM  % _XoSfnd dky 

2- xSfjd e`nHkkaM       % uoik"kk.k dky 

3- mRrjh dkys ikWfy’knkj % gMIik dky  

e`nHkkaM 

mi;ZqDr ;qXeksa esa ls dkSu&lk@ls lgh lqesfyr 

gS@gSa\ 

(A) dsoy 2  (B) dsoy 3 

(C) dsoy 1   (D) dsoy 2 vkSj 3 
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65. Consider the following statements 

 about Rashtrakutas:  

1. The posts of the village headmen 

and village accountant were generally 

hereditary. 

 2. There was complete abolition of 

feudal administration. 

 Which of the statements given above 

is/are correct?  

(a) 1 only   (b) 2 only  

(c) Both 1 and 2  (d) Neither 1 nor 2 

66. Which of the following features 

characterize the pre-Mauryan (6th 

century B.C to 4th century B.C) period 

in north India?  

1. Punch marked coins  

2. Guild system  

3. Paddy transplantation technique 

Select the correct answer using the 

code given below.  

(a) 1 and 2 only (b) 2 and 3 only  

(c) 1 and 3 only (d) 1, 2 and 3 

67. Consider the following pairs: 

 Ancient names  Modern names    

1. Parushini         : Jhelum  

2. Vipasha           : Beas  

3. Askini              : Chenab  

Which of the pairs given above is/ 

are correctly matched?  

(a) 1 and 2 only  (b) 2 and 3 only  

(c) 1 and 3 only  (d) 1, 2 and 3 

 

65. jk"VªdwVksa ds lanHkZ esa] fuEufyf[kr dFkuksa 

 ij fopkj dhft,A 

1- xzkeifr;ksa  vkSj xzke ys[kkdkj dk in 

lkekU;r% oa’kkuqxr gksrk FkkA 

2- lkearh iz’kklu dk iw.kZ vHkko FkkA 

(A) dsoy 1  (B) dsoy 2 

(C) 1 vkSj 2 nksuksa  (D) u rks 1] u gh 2 

66. fuEufyf[kr fo’ks"krkvksa esa ls dkSu&lh 

 mRrj Hkkjr esa ekS;Z iwoZ vof/k ¼NVh 

 'krkCnh bZ-iw- ls pkSFkh 'krkCnh bZ-iw-½ dh 

 Fkh\ 

1- vkg~r flDds 

2- Js.kh O;oLFkk 

3- /kku jksibZ dh rduhd 

uhps fn, ,d dwV dk iz;ksx dj lgh mÙkj 

pqfu,A 

(A) dsoy 1 vkSj 2    

(B) dsoy 2 vkSj 3 

(C) dsoy 1 vkSj 3    

(D) 1] 2 vkSj 3 

67. fuEufyf[kr ;qXeksa ij fopkj dhft,% 

    izkphu uke   vk/kqfud uke¼_XoSfnd ufn;k¡½ 

1- i:".kh  %  >sye 

2- foik’kk  %  O;kkl 

3- vfLduh %  fpukc  

mi;ZqDr ;qXeksa esa ls dkSu&lk@ls lgh lqesfyr 

gS@gSa\ 

(A) dsoy 1 vkSj 2    
(B) dsoy 2 vkSj 3 
(C) dsoy 1 vkSj 3  
(D) 1, 2 vkSj 3 
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68. Consider the following statements 

 with reference to the Kailash  temple 

at Ellora:  

1. It is the largest monolithic 

structure in the world.  

2. The large panel of Sheshashayi 

Vishnu can be found inside the 

temple.  

3. In many respects, it resembles the 

rathas at Mahabalipuram. Which of 

the statements given above is/are 

correct?  

(a) 1 only   (b) 2 and 3 only  

(c) 1 and 3 only  (d) 1, 2 and 3 

69. Which of the following statements 

 given below about the post-

 Mauryan period is correct?  

(a) Saka era was started by the 

greatest Saka ruler, Rudradaman-I. 

(b) Kushana dynasty was founded by 

Kanishka.  

(c) The christian missionary to India 

under St. Thomas came to the court 

of Gondophernes.  

(d) Menander, an Indo-greek king 

embraced Jainism. 

70. Which of the following social and 

 educational reforms was/were 

 introduced by Akbar? 

1. He completely prohibited the 

practice of sati throughout the 

Mughal empire.  

2. He legalized widow remarriages. 

3. He revised the educational syllabus 

to lay more emphasis on secular 

subjects. Select the correct answer 

using the code given below.  

(a) 1 and 2 only  (b) 2 and 3 only  

(c) 3 only   (d) 1, 2 and 3 

68. ,yksjk fLFkr dSyk’k eafnj ds lanHkZ esa] 

 fuEufyf[kr dFkuksa ij fopkj dhft,A 

1- ;g fo’o dh lcls cM+h ,dk’e lajpuk 

gSaA 

2- eafnj ds Hkhrj 'ks"k’kk;h fo".kq dh fo’kky 

izfrek izfr"Bkfir dh xbZ gSaA 

3- fofHkUu ekeyksa esa] ;g egkcfyiqje~ ds 

jFk ds leku izrhr gksrk gSA 

mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\ 

(A) dsoy 1  (B) dsoy 2 vkSj 3 
(C) dsoy 1 vkSj 3    
(D) 1] 2 vkSj 3 

69. ekS;ksZÙkj dky ds lanHkZ Eksa] fuEufyf[kr 

 dFkuksa esa ls dkSu&lk lgh gSa\  

(A) 'kd laor egkure 'kd 'kkld 

#nznkeu&A }kjk vkjaHk fd;k x;k FkkA  
(B) dq"kk.k oa’k dh LFkkiuk dfu"d }kjk dh 

xbZ FkhA 
(C) Hkkjr bZlkbZ /keZ izpkjd lsaV FkkWel ds 

v/khu xksaMksQuZ ds njckj esa vk, FksA  
(D) fgan&;ou 'kkld feukaMj us tSu /keZ dks 
viuk fy;k FkkA 

70. vdcj }kjk fuEufyf[kr esa ls dkSu&lk@ls 

 lkekftd ,oa 'kS{kf.kd lq/kkj vkjaHk fd;k 

 x;k Fkk@ fd, x, Fks\ 

1- mlus laiw.kZ eqxy lkezkT; esa lrh izFkk 

dks iw.kZr% izfrcaf/kr dj fn;kA 

2- mlus fo/kok iqufoZokg dks oS/krk iznku 

dhA 

3- mlus /keZ fujis{k fo"k;ksa ij vf/kd cy 

nsus ds fy, 'kS{kf.kd ikB~;Ø; dks la’kksf/kr 

fd;kA 

Ukhps fn, x, dwV dk Ikz;ksx dj lgh mÙkj 

pqfu,A 

(A) dsoy 1 vkSj 2 (B) dsoy 2 vkSj 3 
(C) dsoy 3  (D) 1] 2 vkSj 3 
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71. Consider the following statements with 

reference to Zamindars under 

Mughals:  

1. They had the hereditary right of 

collecting land revenue.  

2. They owned all the lands 

comprising his zamindari and the 

peasants had no rights on the land. 3. 

They were prohibited from 

maintaining armed contingent due to 

fear of rebellion. Which of the 

statement given above is/are correct?  

(a) 1 and 2 only  (b) 2 only  

(c) 1 only   (d) 1 and 3 only 

72. With reference to the economic 

 history of medieval India, the term 

 'Rahat' refers to  

(a) waterwheel used for irrigation  

(b) land grants to mosques and 

temples  

(c) bonded labour  

(d) large agricultural tracts in Deccan 

region under Delhi Sultanate 

73. Which of the following constitute the 

 famous "Trinity of Carnatic music"?  

(a) Pampa, Ponna and Rana  

(b) Tyagaraja, Muthuswamy and 

Shyama sasthri.  

(c) Nannaya, Thikkana and Eranna  

(d) Sambandanar, Sundarar, Appar 

 

71. eqxyksa ds v/khu tehankjksa ds lanHkZ esa] 

 fuEufyf[kr dFkuksa ij fopkj dhft,A 

1- mUgsa Hkw&jktLo dh olwyh djus dk 

oa’kkuqxr vf/kdkj izkIr FkkA 

2- budk viuh tehankjh ds varxZr 'kkfey 

leLr Hkwfe ij LokfeRo gksrk Fkk rFkk 

fdlkuksa dk Hkwfe ij dksbZ vf/kdkj ugha FkkA 

3- fonzksg ds Hk; ds dkj.k mUgsa lSU; ny 

j[kus ls izfrcaf/kr fd;k x;k FkkA 

mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\ 

(A) dsoy 1 vkSj 2 (B) dsoy 2 

(C) dsoy 1  (D) dsoy 1 vkSj 3 

72. e/;dkyhu Hkkjr ds vkfFkZd bfrgkl ds lanHkZ 

 esa] ^jgV* 'kCn lanfHkZr djrk gSaA 

(A) flapkbZ gsrq ty fudkyus ds fy, iz;qDr 

ifg;k    

(B) efLtnksa ,oa eafnjksa dks Hkwfe vuqnku 

(C) ca/kqvk Jfed    

(D) fnYyh lYrur ds v/khu nDdu {ks= esa 

fo’kky d`f"k Hkw[kaM 

73. fuEufyf[kr esa ls dkSu&lk izfl) ^dukZVd 

 laxhr dh f=ewfrZ* dk l`tu djrk gSa\ 

(A) iEik] iksé vkSj jUUk   

(B) R;kxjkt] eqRrqLokeh vkSj ';kek’kkL=h 

(C) ué¸;] frôu ,oa ,jkZizsxìk ,jsu 

(D) laca/kj] lqanjj] vIij 
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74. Consider the following statements 

 with respect to Jizyah in Delhi 

 Sultanate:  

1. Hindu subjects were subjected to 

Jizyah as a tax paid in lieu of military 

service by the sultan and armies.  

2. Jizyah was separated from land 

revenue by Alauddin Khilji.  

3. Jizyah was imposed on Brahmins, 

who were earlier exempted, by Firoz 

Shah Tughlaq. Which of the 

statements given above are correct?  

(a) 1 and 2 only (b) 1 and 3 only  

(c) 2 and 3 only (d) 1, 2 and 3 

75. Consider the following statements in 

 the context of the rule of Nandas:  

1. Alexander invaded North-Western 

India during their reign.  

2. Chandragupta Maurya overthrew 

Dhanananda to establish Mauryan 

rule.  

3. Pliny, a Roman writer estimated 

the army of Nanda dynasty. Which of 

the statements given above is/are 

correct?  

(a) 1 and 2 only  (b) 3 only  

(c) 1 and 3 only    (d) 1, 2 and 3 

76. Which of the following factors led  to 

the expansion of trade during the 

 seventeenth century?  

1. Political integration of the country 

under the Mughal rule.  

2. Establishment of conditions of law 

and order over extensive areas. 3. 

Abolition of road cesses.  

4. Standardization of Mughal rupee 

as a currency across India and 

abroad. Select the correct answer 

using the code given below.  

(a) 1, 2 and 3 only (b) 1 and 2 only 

(c) 3 and 4 only  (d) 1, 2, 3 and 4 

74. fnYyh lYrur esa tft;k ds lanHkZ esa] 

 fuEufyf[kr dFkukssa ij fopkj dhft,% 

1- lqYrku vkSj lsukvksa }kjk lSU; lsok ds 

cnys esa Hkqxrku fd, tkus okys dj ds :Ik 

esa fgUnw iztk ij tft;k dj vkjksfir fd;k 

x;k FkkA 

2- vykmn~nhu f[kyth }kjk Hkw&jktLo ls 

tft;k dj dks i`Fkd fd;k x;k FkkA 

3- fQjkst 'kkg rqxyd }kjk czká.kksa ij 

tft;k dj vkjksfit fd;k x;k Fkk] ftUgsa iwoZ 

esa bl dj ls NwV izkIr FkhA 

mi;qZDr dFkuksa esa ls dkSu&ls lgh gSa\ 

(A) dsoy 1 vkSj 2 (B) dsoy 1 vkSj 3 
(C) dsoy 2 vkSj 3 (D) 1] 2 vkSj 3 

75. uan oa’k ds 'kklu ds lanHkZ esa] fuEufyf[kr 

 dFkuksa ij fopkj dhft,% 

1- fldanj us muds 'kkludky ds nkSjku 

mRrj&if’peh Hkkjr ij vkØe.k fd;k FkkA 

2- panzxqIr ekS;Z us ekS;Z 'kklu dh LFkkiuk 

djus ds fy, /kukuan dks ijkftr fd;kFkkA 

3- jkseu ys[kd fIyuh us uan oa’k dh lsuk 

dk o.kZu fd;k FkkA 

mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\ 

(A) dsoy 1 vkSj 2      (B) dsoy 3 
(C) dsoy 1 vkSj 3      (D) 1] 2 vkSj 3 

76. Lk=goha 'krkCnh ds nkSjku fuEufyf[kr esa ls 

 fdu dkjdksa us O;kikj dks izksRlkfgr fd;k\ 

1- eqxy 'kklu ds v/khu ns’k dk jktuhfrd 

,dhdj.kA 

2- foLr`r {ks= esa dkuwu ,oa O;oLFkk dh 

LFkkiukA 

3- lM+d midj dh lekfIrA 

4- Hkkjr vkSj fons’kksa esa eqnzk ds :i esa eqxy 

:i;s dk ekudhdj.kA 

Ukhps fn, x, dwV dk iz;ksx dj lgh mÙkj 

pqfu,A 

(A) dsoy 1] 2 vkSj 3(B) dsoy 1 vkSj 2 
(C) dsoy 3 vkSj 4   (D) 1] 2] 3 vkSj 4 
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77. With reference to the Buddhists 

 texts Dipvamsa and Mahavamsa, 

 consider the following statements:   

1. They were written and compiled in 

Sri Lanka.  

2. They contain regional history of 

Buddhism as well as biographies of 

Buddha.  

3. They were written in the Pali 

language. Which of the statements 

given above is/are correct?  

(a) 1 only   (b) 1 and 2 only  

(c) 2 and 3 only  (d) 1, 2 and 3 

78. Consider the following statements with 

reference to trade in Harappan 

 Civilisation:  

1. Trade was based on the exchange 

of goods without the use of money.  

2. Harappans did not had knowledge 

of the sea. Which of the statements 

given above is/are correct?  

(a) 1 only   (b) 2 only  

(c) Both 1 and 2  (d) Neither 1 nor 2 

79. Consider the following pairs: 

 Theatre   Region/state  

1. Tamaasha      : Madhya Pradesh  

2. Bhand Pather : Kashmir  

3. Maach           : Maharashtra  

4. Dashavtara    : Goa  

Which of the pairs given above is/are 

not correctly matched?  

(A) 1 only   (B) 4 only  

(C) 1 and 3 only  (D) 2 and 4 only 

 

77. ckS) xazFk ^nhioa’k* vkSj ^egkoa’k* ds lanHkZ 

esa] fuEufyf[kr dFkuksa ij fopkj dhft,% 

1- bUgsa Jhyadk esa jfpr vkSj ladfyr fd;k 

x;k FkkA 

2- buesa ckS) /keZ ds {ks=h; bfrgkl ds 

lkFk&lkFk cq) dh thouh dk mYys[k gSaA 

3- budh jpuk ikyh Hkk"kk esa dh xbZ FkhA 

mi;qZDr dFkuksa esa ls dkSu&lh@ls lgh gS@ 

gSa\ 

(A) dsoy 1  (B) dsoy 1 vkSj 2 

(C) dsoy 2 vkSj 3 (D) 1] 2 vkSj 3 

78. gM+Iik lH;rk esa O;kikj ds lanHkZ esa] 

fuEufyf[kr dFkuksa ij fopkj dhft,A 

1- O;kikj /ku ds mi;ksx ds fcuk 

oLrq&fofue; iz.kkyh ij vk/kkfjr FkkA 

2- gM+Iikokfl;ksa dks leqnz dk Kku ugha FkkA 

mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\ 

(A) dsoy 1       (B) dsoy 2 

(C) 1 vkSj 2 nksuksa(D) u rks 1] u gh 2 

79. fuEufyf[kr ;qXeksa ij fopkj dhft,A 

jaxeap          {ks=@jkT; 

1- rek’kk    %   e/; izns’k 

2- HkkaM ikFksj %   d’ehj 

3- ekp      %   egkjk"Vª 

4- n’kkorkj   %   xksok 

mi;qZDr ;qXeksa esa ls dkSu&lk@ls lgh lqesfyr 

ugha gS@gSa\ 

(A) dsoy 1  (B) dsoy 4 

(C) dsoy 1 vkSj 3    

(D) dsoy 2 vkSj 4 
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80. Consider the following statements  in 

the context of Samudragupta's  reign:  

1. Vishnusena eulogised the military 

expeditions of Samudra gupta on a 

pillar at Allahabad.  

2. Chinese traveller Fa-hein visited the 

court of Samudragupta  

3. Samudragupta adopted the famous 

title 'Vikramaditya'.  

Which of the statements given above 

is/are correct?  

(a) 2 and 3 only   (b) 2 only  

(c) 1 and 2 only  (d) None 

81. Consider the following pairs:  

Work    Author  

1. Sangeeta Sudhakara: Sharanga-  

                                   deva  

2. Sangeeta Ratnakara: Haripala  

3. Brihaddesi              : Matanga  

Which of the pairs given above is/are 

correctly matched?  

(a) 3 only   (b) 1 and 2 only  

(c) 2 and 3 only  (d) 1, 2 and 3 

82. Consider the following statements 

 with reference to Bhakti movement 

 in south India:  

1. The earliest bhakti movements in 

southern India were led by the Alvars 

and Nayanars.  

2. Opposition to Buddhism and 

Jainism is one of the major themes in 

Tamil bhakti hymns.  

3. Bhakti movement in south India 

failed to attract tribals.  

Which of the statements given above 

is/are correct?  

(A) 1 only   (B) 1 and 2 only 

(C) 2 and 3 only  (D) 1, 2 and 3 

 

80. leqnzxqIr ds 'kkludky ds lanHkZ esa] 

 fuEufyf[kr dFkuksa ij fopkj dhft,A 

1- fo".kqlsu us bykgkckn esa ,d lrh ij 

leqnzxqIr ds LkSU; vfHk;kuksa dh iz’kfLr 

mRdh.kZ dh FkhA 

2- phuh ;k=h Qkg;ku leqnzxqIr ds njckj esa 

x;k FkkA 

3- leqnzxqIr us ^foØekfnR;* dh mikf/k /kkj.k 

dh FkhA 

mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\ 

(A) dsoy 2 vkSj 3    

(B) dsoy 2 

(C) dsoy 1 vkSj 2    

(D) mi;qZDr esa ls dksbZ ugha 

81. fuEufyf[kr ;qXeksa ij fopkj dhft,A 

jpuk                ys[kd 

1- laxhr lq/kkdj %     lkjaxnso 

2- laxhr jRukdj %     gfjiky 

3- c`gn~ns’kh     %      erax 

mi;ZqDr ;qXeksa esa ls dkSu&lk@ls lgh lqesfyr 

gS@gSa\ 

(A) dsoy 3  (B) dsoy 1 vkSj 2 

(C) dsoy 2 vkSj 3 (D) 1] 2 vkSj 3 

82. nf{k.k Hkkjr esa HkfDr vkanksyu ds lanHkZ esa] 

fuEufyf[kr dFkuksa ij fopkj dhft,A 

1- nf{k.kh Hkkjr esa vkjafHkd HkfDr vkanksyuksa 

dk usr`Ro vyokjksa vkSj u;ukjksa us fd;k FkkA 

2- rfey HkfDrijd Hktuksa esa ckS) vkSj tSu 

/keZ dk fojks/k ,d izeq[k fo"k; FkkA 

3- nf{k.k Hkkjr esa HkfDr vkanksyu vkfnokfl;ksa  

   dks vkdf"kZr djus esa foQy jgkA 

mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\ 

(A) dsoy 1  (B) dsoy 1 vkSj 2 

(C) dsoy 2 vkSj 3 (D) 1] 2 vkSj 3 
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83. Which of the following is not  correct 

with reference to Guru  Nanak?  

(A) He advocated saguna form of 

bhakti.  

(B) He rejected the austerities and the 

scriptures of both Hindus and 

Muslims.  

(C) He expressed/composed his ideas 

through hymns called “shabad".  

(D) He started langar to uphold the 

principle of equality. 

84. What did king Ashoka do after his 

triumph over Kalinga? 

(A) He conquered other states to 

expand his territories 

(B) He attempted to conquer world 

(C) Ashoka embraced Buddhism & 

spread its teaching. 

(D) He didn‟t do anything from the 

above 

85. Which one ofs the following pairs does 

not form part of the six system of 

Indian Philosophy ? 

(A) Mimansa-Vedanta 

(B) Nyaya- Vaisheshika 

(C) Lokayat - Kapalika  

(D) Sankhya - Yoga 

86. Devnam Priyadarshi was the another 

name of- 

(A) Ashoka,        (B) Chandragupta 

(C) Gautam Buddha  

(D) Lord Mahavira 

87. Which of the following dynasty didn‟t 

rule in Northern India? 

(A) Chalukya  (B) Rajput 

(C) Gupta  (D) Maurya 

88. "Quwwat-ul-Islam" mosque was built by- 

(A) Mohammad Adilshah   

(B) Iltutmish 

(C) Qutubuddin Aibak    

(D) Alauddin Khilji 

83. xq# ukud ds lanHkZ esa] fuEufyf[kr dFkuksa esa 

ls dkSu&lk lgh ugha gSa\ 

(A) mUgksaus HkfDr ds lxq.k :Ik dk leFkZu fd;kA

 (B) mUgksaus fganqvksa o eqlyekuksa nksuksa dh  

   ferO;;rkvksa vkSj /keZ’kkL=ksa dks      

   vLohdkj dj fn;kA 

(C) mUgksaus ^lon* uked Hktuksa ds ek/;e ls 

vius fopkjksa dks O;Dr@ladfyr fd;kA  

(D) mUgksaus lekurk dk fl)kar cuk,  

j[kus ds fy, yaxj vkjaHk fd;kA 

84. 261 bZ- iwoZ lezkV v’kksd us dfyax fot; 

ds i'pkr~ D;k fd;k\ 

(A)vU; vkSj jkT;ksa dks thr dj viuh 

lhek c<+kbZ 

(B) fo’o fot; ds fy, iz;kl fd;kA 

 (C) ckS)/keZ dks viukdj mldk izpkj 

fd;kA 

(D) mijksDr esa ls dqN Hkh ugha fd;k 

85. fuEufyf[kr es ls dkSu&lk tksM+k Hkkjrh; 

n'kZu dh Ng iz.kkyh dk fgLlk ugha gS\ 

¼A½ ehekalk & osnakr ¼B½ U;k; & fo'ksf"kdk 

¼C½ yksdk;r & dkikfyd  

¼D½ lka[; o ;ksxk 

86. fuEufyf[kr esa ls og dkSu gS ftldk uke 

^nsouke fiz;n’khZ* Hkh Fkk\ 

(A) ekS;Z lezkV v’kksd     

(B) ekS;Z  lezkV pUnzxqIr 

(C) xkSre cq)   

(D) Hkxoku egkohj 

87. fdl jktoa’k us mÙkj Hkkjr ij 'kklu ugha 

fd;k gS\ 

(A) pkyqD;  (B) jktiwr 

(C) xqIr  (D) ekS;Z 

88. dqOor&my&bLyke efLtn fdlds }kjk cuokbZ 

xbZ\  

(A) eqgEen vkfny'kkg (B) bYrqrfe'k 

(C) dqrqcqíhu ,scd (D) vykmíhu f[kyth 

 



 

visit us at : www.samikshainstitute. org                                         MPPSC QTS-01 Chemistry                                                                     Page  25   

 

25 

89. The battle that led to the foundation of 

muslim power in India was – 

(A) The First battle of Panipat   

(B) The First battle of Tarain 

(C) The Second battle of Panipat  

(D) The Second battle of Tarain 

90. Who was anointed as “Sahitya-un-

zamani” by Aurangzeb? 

(A) shahyasta Khan (B) Amia Khan 

(C) jahan Ara  (D) Roshan Ara 

91. Who among the following was the 

founder of Chishtia branch of Sufism? 

(A) Sheikh Muhiyudin 

(B) Sheikh Ziauddin Abuljiva 

(C) Khwaja Abu-Abdal 

(D) Khwaja Bahaud-din 

92. Who among the following during the 

Karachi session in 1931 drafted the 

proposal of fundamental rights? 

(A) Subhash Chandra Bose 

(B) Acharya Narendra Dev 

(C) Jawahar Lal Nehru 

(D) Maulana Abul Kalam Azad 

93. Which of the following is incorrectly 

matched? 

(A) Pitt‟s India Act – Warren Hastings 

(B) Doctrine of Lapse – Dalhousie 

(C) Vernacular Press Act – Curzon 

(D) Ilbert Bill – Ripon  

94. Which of the following is not related 

with Lord William Bentinck? 

(A) Abolishment of Sati System. 

(B) Ban on child killing 

(C) Restriciton on Child Marriage 

(D) End of Fraud 

95. “Economic History of India” First 

book written on the economic 

condition of India is written by- 

(A) Dada Bhai Naoroji 

(B) Bal Gangadhar Tilak 

(C) Gopal Krishna Gokhale 

(D) Ramesh Chandra Dutt 

89. Hkkjr esa eqfLye 'kfDr dh uhao LFkkfir djus 

okyk ;q) Fkk\ 

(A) ikuhir dk izFke ;q)  

(B) rjkbu dk izFke ;q) 

(C) ikuhir dk f}rh; ;q)  

(D) rjkbu dk f}rh; ;q) 
90. vkSjaxtsc us fdldks ^lkfgR;&mt&tekuh* dh 

mikf/k iznku dh\ 

(A) 'kk;Lrk [kku (B) vehu [kku 

(C) tgk¡ vkjk  (D) jks’ku vkjk 

91. fuEufyf[kr esa ls dkSu lwQhokn dh fpf’r;k 

'kk[kk dk laLFkkid Fkk\ 

(A) 'ks[k eqghmn~nhu  

(B) 'ks[k ft;kmn~nhu vcqythok 

(C) [oktk vcq&vCnky 

   (D) [oktk cgkmn~nhu 

92. fuEufyf[kr esa ls fdlus 1931 ds djkWph 

vf/kos’ku esa ekSfyd vf/kdkjksa ds izLrko dk 

izk:i rS;kj fd;k Fkk\ 

(A) lqHkk"k pUnzcksl  

(B) vkpk;Z ujsUnz nso 

(C) tokgj yky usg: 

(D) ekSykuk vcqy dyke vktkn 

93. fuEufyf[kr ;qXeksa esa ls dkSu&lk ,d lgh 

lqesfyr ugha gS\ 

(A) fiV~l bf.M;k ,DV & okWjsu gsfLVaXl 

(B) MkWfDVªu vkWQ ySIl  & MygkSt+h 

(C) oukZaD;wyj izsl ,DV & dtZu 

(D) bYcVZ fcy  & fjiu 

94. ykWMZ fofy;e cSafVd ds lUnHkZ esa fuEu esa ls 

D;k ykxw ugha gksrk gS\ 

(A) lrh&izFkk dk vUr 

(B) f’k’kq gR;k ij ikcUnh 

(C) cky&fookg ij izfrcU/k  

              (D) Bxh dk vUr 
95. Hkkjr dh vkfFkZd fLFkfr ij fy[kh igyh iqLrd 

^bdksuksfed fgLVªh vkWQ bf.M;k* ds ys[kd gS\ 

  (A) nknk HkkbZ ukSjksth  

  (B) cky xaxk/kj fryd 

  (C) xksiky d`".k xks[kys  

   (D) jes’kpUnz nRr 
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96. Who was the Governor General of 

Bengal during the formation of Asiatic 

Society in Calcutta? 

(A) Lord Cornwallis  

(B) Lord Warren Hastings 

(C) Lord Wellesley  

(D) Lord Bentinck 

97. Which of the following saint used the 

medium of songs and dance to 

establish the connection with the God? 

(A) Shankracharya 

(B) Chandidas 

(C) Gyandev 

(D) Chaitanya Mahaprabhu 

98. Department named Diwan-e-Amir- 

Kohi related to agriculture was 

established by- 

(A) Allaud-din-Khilji 

(B) Firoz Shah Tughluq 

(C) Muhammad Bin Tughlaq 

(D) Iltutmish 

99. Who was the Prime Minister of 

England during the Independence of 

India? 

(A) Winston Churchill  

(B) Clement Attlee 

(C) Harold Macmillan (D) None 

100. Indus valley civilization known for? 

(A) For city planing   

(B) Mohanjodaro & Harappa 

(C) Related to agriculture work 

(D) For industrialization 

 

 

 

 

 

 

 

96. dydÙkk eas ,f’k;kfVd lkslk;Vh dh LFkkiuk 

ds le; caxky dk xouZj tujy dkSu Fkk\ 

  (A) ykWMZ dkuZokfyl  

  (B) ykWMZ okjsu gsfLaVXl 

  (C) ykWMZ osystyh  

    (D) ykWMZ cSfVad 

97. bZ’oj ls lkfu/; LFkkfir djus ds fy, fdl 

HkfDr lUr us u`R; ,oa xku (dhrZu) dk 

ek/;e viuk;k\ 

(A) 'kadjkpk;Z   

(B) p.Mhnkl 

(C) Kkunso   

(D) pSrU; egkizHkq 

98. fuEufyf[kr esa ls fdlus fnYyh lYrur ds 

lanHkZ esa nhoku&,&vehjdksgh  (d`f"k foHkkx)  

dh  

LFkkiuk dhA 

(A) vykmn~nhu f[kyth 

(B) fQjkst’kkg rqxyd 

(C) eqgEen&fou&rqxyd  

(D) bYrqrfe’k 

99. tc Hkkjr dks vktknh feyh rc baXyS.M dk 

iz/kkuea=h dkSu Fkk\ 

  (A) foLVu pfpZy (B) DyhesUV ,Vyh 

  (C) gSjkYM eSdfeyu (D) buesa ls dksbZ ugha 

100. flU/kq ?kkVh lH;rk izeq[k :i ls tkuh tkrh 

gS\  

    (A) vius uxj&fu;kstu ds fy,  

    (B) eksgutksnM+ks vkSj gM+Iik ds fy, 

    (C) vius d`f"k lEcU/kh dk;ksZ ds fy,  

   (D) vius m|ksxksa ds fy, 


